& % 4 + 21y O] 9157} ok 3127

D x(2x+y) @ 2 ® x
(@)y ® 2x+y

4x% + 2xy = 2x (2x +y)
A711, 2, x, 2x+y, 26,2(2x+y), x(2x+y), 2x(2x + )




D 2 —6x+9

® x2+12x+ 36 @ 422 + 16x + 16

® @)2x2
x4 day + 47 @22 + a3y +25°

@ 2x2
+4xy + 42 =
y2 = x% + 4xy + 4y? + x*

= (x4 2y)2 + »2




=

oo

= Ao] FAAFAL W, a+b ©) G Fatolet. (Fa>0)

4 +ax+ 1,92 + 24x + b

[
H -

>
> HEF a+b=20

B ~

45 +ax+1=(2x+1)?
a=2%x2x1,a=4

9x2 + 24x + b = (3x + 4)*
b=4%b=16
La+b=44+16=20




4. 8x%—10xy - 12y? & AFESHS o, I A& I 2HAH?

D x-vy @ x+2y ® 2x+4y
@ 4x -3y ®)4x + 3y

8x2 — 10xy — 12y* = 2 (4x% — 5xy — 6)?)
=2 (x—2y) (4x + 3y)




@ x+6
® x-3

@x+2

@ x+3

L= L= ]

1 1 1
1) B
1 1
I EY
A
\

Holol

F2 2 +4x+4=(x+2)20lB2,
o] o7t x + 2 1 HAF T Hol7t 2ot




6.

27} 20— 7, WOI7k 8a? — 30a + 7 ¢ AAIZFG ] Eee] Lol
atelat,

> E:

> HE: 12a-16

il

8a2 -30a+ 7= (2a-7) (4a—-1)
wtebA] E99] Zol= {(2a - 7) + (da— 1)} x2 = 12a—16 °]c}.




39

ul
RO

(20 + 19)(20 — 19)

39%x1=39

‘ 202 — 192




8. 9a?-16p* =-12 0|1 3a—4b =4 & W}, 3a + 4b ] FE FotH?

@ 2 @ 3 ®@-2 @-3 0©-

(3a + 4b)(3a — 4b) = —12
So3a+4b = -3




Ar2sf 2 o, A< ghol

@®)5 ® 9

T 59 Fo] -10°] Hx= =

-1x10, 1x(=10), 2x (=5), —2x 50| B2
A=49,+3




rr
)
ot

429

10. 25 x-3E el 2t

@O x2-2x-38 @x2—2x—3 ® x24+3x+2

@ x2-x-2 ® x2-3x+2

B

@D x® —2x—8= (x +2)(x—4)
@x?2-2x-3=(x-3)(x+1)
® x2+3x+2=(x+1)(x+2)
@ x?-x-2=(x+1)(x-2)

® x?-3x+2=(x—1)(x~-
oA (x-3) S PR A= A2 0

X




11. 2x% +ax+b & T2t 2x+ 1) (x+1)°] Aot o] a + b5
71717

(2x+1)(x+1)=2x2+3x+1
a=3,b=1
La+b=4




12. b x o o3 oIl A 947 (x4 1), (2x-5) D W, A~ B 9]
e Fopoler.

Ax?2-3x+ B

[
| —

| 2
[> Hell A-B=7

B )

Ax?> -=3x+B=(x+1)(2x-5)
Ax> -3x+B=2x*-3x-5
A=2 B=-5

S A-B=2-(-5)=T7




13. (x—2y)(x-2y-3)-102 JI5E35H4A

@_10 @ 3 ® 10 @ 2

B

x-2y =1 2ok,
t(t=3)-10 =12 -3t - 10
= (t-5)(t+2)
=(x-2y-5)(x-2y+2)
om=-5n=2

C.mn = _10




14.

(3x-2)* = (2x+3)° = (Ax+ 1) (x+ B) & W, A+ B 9] & 73}
ot

> E

> Het A+B=0

B

3x—2=X, 2x+3=YZ 23IH
(3x - 2)2 - (2x+ 3)2
=X2-Y? = (X+Y)(X-Y)

= (5x+1)(x-5)

. A=5 B=-5

s A+ B=0o]Jt}




15.

X
[e]
'C?

xR

20 A

OEE'E/\

x+2)(x+4)(x+6)+16 = A2l Sh= Tgoltt. () Sl
|

=
=

x(x+2)(x+4)(x+6) + 16
=x(®) x (x +2)(@) + 16

= (x +6x)(®) + 16

(@) =A st

A2 +8A +16 = (A+4)* = (©)?

DO x+5 @ x+3
@x2+6x ® x2+6x+1

® x?4+4x+38

z

B

D x+6
@ x+4
® x> +6x+38
® x%> +6x+4




16.

x? = 2x—y? + 2y B JAFESfSAHY
(x+ay)(x—=by +c) 7F E1Ath ot a + b + ¢ 9] 222

a-2x-y?+2y=x2 -y -2(x-y)
= (x+y)(x-y) - 2(x-)
= (x-yx+y-2)
Ot a=-1,b=-1, c=-29B2 g+ b+c=—-4




&

17. x= 2+1 A, 4x2 —4x + 1 9] & ot
> E
> = 3

V3+1
2
4% —4x+1=(2x-1)?
= (V3 =3

—2x—1= V3o|BZ




18. o3 x?-6x+a=(x-b)? S UET W, ab 9] S Fotoizt

x2—6x+a=(x—-b)?
(x=3)*=(x-b)
x2—6x+9=(x-b)2
~a=9 b=3




19. A5ENE HhEA F 2L BE D2W?

@® x*-5x-6=(x-2)(x-3)
@ 12x —4x% = 4x(x - 3)
@x2 —14x+49 = (x = 7)2

@ 3x2+5x-2=(x-2)(3x+1)

@) 1a? - 9% = (2a- 3b)(2a + 3b)

@ (x-6)(x+1)
@ —4x(x - 3)
@ (x+2)(3x-1)




20.

® x2-7x+2

(x+2)? = (x=1)(x+2) & HA7Hote] ko] UEp?
D 2x2+4x+6 @ 2x% —4x
@3x+6 ® 3x-6

EN=(x+2){x+2-(x-1)}
:(x—|—2)>(3=3x+6




21. o T at-19 Q57 obd A2

D -1 @ x+1 ® 241

@Xz—]. @x2+_x_]_




22. a®>+2ab+b?-a-bE AFEISHH?

® (a+b)(a+b+1) @ (a-b)(a+b-1)
® (a=b)(a-b-2) @ a+b)a+b-1)
® (a+b)(a+b-2)

‘ (a+b)?*-(a+b)=(a+b)la+b-1)




23.

3ab? — 15a’b & JATENTF A7

@ ab(a-b) @ 3a(b*-b)
@ ab(a+ b) ® 3a*(b* - 5b)

@3411)(19 - 5a)

3ab® — 15a*b = 3ab(b — 5a)




24.

X2y 420y 9 A57E B S Qs ALY

@x—y—Z @ x-y-4
@ x-y+4 ® x+y+2

¥ +y?—4-2xy = (x-y)?-2?
=(x-y+2)(x-y-2)




25.

@ a+b+2 @ a-b+6
@a—i—b—i—G ® a-b+5

® a+b-6

B

a+b=ATt5H
A(A+1)-30=A42+A4-30
= (A+6)(A-5)
=(a+b+6)(a+b-5)

whakA Al2o] dole a+ b+ 6 oltt.




